Time : 3 Hrs. M.M.: 90

General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt
both the sections.

2.  All questions are compulsory.

3. There is no overall choice.

4.  All questions of Section-A and all questions of Section-B are to be attempted
separately.

5. Questwn numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence. :

6. Question numbers 4 to 7 in Section-A are two marks questions. These are to be
answered in about 30 words each,

7. Question numbers 8 to 19 in Section-A are three marks questions. These are to
be answered in about 50 words each.

8. Question numbers 20 to 24 in Section-A are ﬁve marks questmns, These are to
be answered in about 70 words each.

9. Question numbers 25 to 42 in Section-B are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one
most appropriate response out of the four provided to you.

SECTION-A

Ql. Anion M’ has 10 electrons and 12 neutrons. What is the atomic number and mass
number of M? : ()

Q2. Name the phylum to which Ascaris and Wuchereria belong. 1)

Q3. How does the absence of atmosphere on moon affect its temperature? 1)

Q4. Why are local names not sufficient to recognize organisms? What are the advantages
of keeping scientific names? 2y

Q5. What is inflammation? State two effects of this process. 2)

Q6. Abody is floating on the surface of a liquid. With the help of a diagram show that the
two forces acting on it are responsible for its ﬂoata’uon State the relationship between
the two forces in this case. : I2]

Q7. Calculate the work required to be done to stop a car of 1500 kg moving at a velocity
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of 60 km/h. (2)
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Q8.

Q9.

Q10.

Ql2.

Q13.

gl

@ Write the chemical formulae of : (3
i Calcium hydroxide
(i) Aluminium chloride

s)] Find out the mass of 0.5 mole of water molecule
{Atomic mass: o= 1u, 0= 16ul

() Calculate the aumber of moles present in 992g of carbondinxide
[Atomic mass :C= 12u, 0= 16u}

Explain the observations and conclusions made by Rutherford in alpha particle
seattering €xXpe iment. (3

' 79 81
@ U bromine atom is available in the formof tw0 isotopes 35131' (49.7%) and 35Br

(50.3%. calcuiate the average atomic mass of bromine atom. 3

) The atomic aumber of Ca and Ar are 90 and 18 respecti%l . but the mass
pumber of poth these elements is 40. What is the name given {0 such a pair of

elements?

State reasons for the following : ' 3
(@) Gymnosperms are named SO.

(py Platypus lays e£8 but is placed in Mammalia.

(© Echinod ermata have peculiar wafer driven tube system.

Write one point of difference each, between the following - - 3
(a) Dicots and Monocots

(b} Annelids and Arthropods

(@ warm-blooded and Cold-blooded animals

Ria and Simran are pest friends and study in grade IX. Ria is suffering from cough

and cold. Inthe class, Ria always covers her mouth witha handkerchief while coughing:
Simran I8 wondering Wiy Ria has been advised by her mother to COVET her mouth
while coughing. Ria explains t0 her that common coldisan infectious disease which
can spread from one person 0 another. ' 3

(a) Namethe infectious agent which causes commmon cotd.

_ oy On which factor does the severity of an infectious disease depend?

© What values are shown by Ria?

Qi4. {a) What is relative density of & substance?

() Relative density of gold 18 19.3. What is its density in S.1. system?
[Given density of water = 108 Kg m (3
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Q15. Whatare the conditions essential for work done by a force acting on an object? What

3 is the work done by aman in carrying a suitcase weighing 10 kg over his head, when

he travels a distance of 30min: 3
(@) vertically upward direction in a Lift?
{b) vertically downward directionina 1ift? (Take €= 9.8 m/s”)

Q16. (@ What is the audible range of the average human ear?

(b) Distinguish between longitudinal and transverse waves. Give one example of
each. 3)

Q17. Nlustrate the law of conservation of energy by discussing the energy changes which
occur when we draw a pendulum bob to one side and allow it to oscillate. Why does
 the bob eventually come to rest? What happens to its energy eventually? 3)

Q18. (@) Define the following processes involved in nitrogen cycle. (3
()  Nitrogen fixation
(if} Ammonification
o) State two methods to prevent soil erosion.
Q19. Explain the various factors that lead to the formation of soil. 3

g20. (a When 6g of hydrogen gas was burnt with 48¢g of oxygen then 54g of water was
produced. In another eXpe iment, when electric current was passed through
36g of water then 4g of hydrogen and 32g of oxygen were formed.

(i) Calculate the mass ratio of hydrogen and oxygen which combine 10 form
water. '

@) Calculate thé"énass ratio of hydrogen and oxygen formed when electric
current was passed through water.

(il Name the law of chemical combination which is verified by these
experiments.

(v) Define the law of chemical combination observed inthe above experiments. '

(b) Anelement ‘A’ forms an oxide A0, Whatis the valency of the element ‘A? (B8}
Q21. (a) - State two characteristic features of Aves. |

o) Identify the group to which the following belong :

@) Plants with hidderni reproductive organs and plant body differentiated info
root, stem and leaves.

Gy Viants which are known as ‘amphibians of plant Kingdom'.
(i) Plants with reticulate ieaf venation and -tap root system. 5
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Q22.

Q23.

Q24.

Q25.

Q26.

(a) Define ‘power’ of a body. State and defire the S 1. unit of POWer.

by Two children ‘A’ and ‘B, both weighing 39 kg, climb up 2 rope separately and
to reach that jevel. Calculate

Which of the two has more power?

reach a height of 8. A takes 158 and B

the amount of work done by ‘A and B

(Show by calculations.]

fa) Whyare gound waves called mechanical

(o) Write two important applications of ultrasound waves.

() Draw adiagram of the wave shape for:

5} low pitched sound

What is .the main difference between them?

(@) Whatare the causes of water pollution?

b) In coastal areas, wind current moves from the sea t
but during night it moves from land to sea.

SECTION-B

(5)

a high pitched sound
)
wards the land during day,
Discuss the reason. 5)

Two chemicals A and B react completely 10 form C and D. 1f4¢ of A reacts with 6¢ of

B,3gofCis produced. What is the amount of D

@ 38
© 78

Aqueous solutions of barium chioride and sodium sulphate were made to reactina
closed vessel. The correct observation made by the st ‘

(a) aslow reaction takes place

by ayelow precipitate is formed

(@ awhite precipitate is formed

Q27.

Q28.

(@ colourless. odourless gas is evolved

produced?

1)

s

1)

The structure present in male cockroach, put absent in fernale cockroach is 1

@ brood pouch

(¢} analstyle

Some students want to prepare a temporary mount of Spirogyra.

search for a fresh specimen of this organism?
a) Imapond of salty water

by Ina pond of stagnant water

(© Inastream of running fresh water

(@ Inastream of running salty water

(E-4)
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Q29. The first segment of earthworm is called as: m

(a) peristomium (b) prostomium
ic) clitellum (d) metamere
Q30. What are (1) and (2) in the given diagram ? {1

a) Gills and annulus
(b) Pileus and gills

() Stipe and annulus

(@ Pileus and stipe Ao
Q31. Aplant having leaves as shown in the figure will not bear : (1)

(@) pentamer ous flowers
() fibrous root syétem
(¢ seed with two cotyledons
@ reticulate venation
Q32. What is correct about the feeding habit of pupa of mosquitoes? (n
(@) Itfeedson leaves
by Itfeeds oﬁ organic waste
¢ Itfeedson blood
@ It does not feed at all

Q33. The least count of a spring balance is 1g Wi. Whenitis suspended freely withoutany
weight attached to the hook, the pointer is justin front of second small division on

the scale. The zeT0 erroris: , (1)
(a) -2gwt b  +28wt
(¢} zero ' _ @ +lgwt

Q34. Astudent noted down following observations in his note book : (1)

(i) weight of the stone in air = 272g wt
@ weightof the étone in water = 192g wt

' () weight of the stone in salty water = 176g WU
The relative density of the salty water mustbe :

@ I 2
! 12 © 17
13 6
@ 37 @ 3
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Q35.

Q36.

Q37.

Q38.

A student lowers a body into a liquid filled in a container. He finds that there is a
maximum apparent loss in weight of the body when {1)

(@) it just touches the surface of the liquid

(b) it is completely immersed in the liquid

(c) itis partially immersed in the liguid

(d) itis partialiy immersed and also touches the side of the container

The water level in a measuring cylinder, before and after immersing a solid in it is

shown in the figure. The volume-of the given solid in cc is : (1)
— oML | o Mt
-7 P e ——
€ - _:" T~ - -
e s
el 4 - -
$* !~ "= T - ¥ = -
__3;: _,-'-::_-‘- "'_ 3 -_— - __--—’
2 -=-->-= R s
| el N = o=
[\-’ _"—:—':.-;—:)\ T em e e ""-9\
@ 1.8 b) 2.0
[} 25 @ 2.4
In an experiment for verification of reflection of sound, the incident sound is directed
along ' )

(a) axis of tube

(b} normal to the axis of the tube

{c) at an angle of 30° from the axis of the tube
{d) at an angle of 45° from the axis of the tube

A student while verifying the laws of reflection of sound, measured the angle between
the incident sound wave and reflected wave as 110°. The angle of reflectionis (1)

(@ 110° (b) 55°
¢ 27° d 70°

(E-6)



i s i

Q39. While studying the reflection of sound, 3 students used different reflecting surfaces.
The best result would be obtained by the student using the reflecting surface : (1)
faj a thermocol sheet {b) apolished, plane metal sheet
(¢ arough cardboard sheet d a cushioned chair
Q40. A pulse was created in a string/stinky of length 4m by a group of 4 students. Theyv
observed that it returned, after reflection, at the point of creation 6 times in
10 seconds and calculated the speed as follows : (§3]
Student A B C D 4‘
Speed in m/s 4.8 LLBJ
I
The correct speed was calculated by the student
(@ A k) B
@ C @ D
Q4l. Aniron cuboid is of size 10cm x 8cm x 4cm. The pressure exerted by cuboid on sand
surface is minimum, when n
(a) surface of area 39cm? (= 8cm x 4cm) is placed on sand
(b surface of area 40cm? (= 10cm x 4cm) is placed on sand
(¢) surface of area 80cm? (= 10cm X 8cm) is placed on sand
(_d) surface of area 80m? (= 10m % 8m} is placed on sand
Q42. S.I unit of pressure is: (1)
{a) Newton () Newton-m?
(0 Newton/ m?® ' d Pascal-m?*

e



SUMMATIVE ASSESSMENT 1I - 2012-13 - 3/2013
CLASS: IX
SUBJECT : ENGLISH (SET-I)

Time : 3 Hrs, | M.M.: 80
General Instructions :
The question paper is divided into four sections.

Section-A : Reading 15 marks

Section-B : Writing 20 marks

Section-C : Grammar 15 marks

Section-D : Literature 30 marks

SECTION-A
_ (READING - 15 MARKS) ,
Q1. Read the following passage carefully : (8}
Life is Beautiful

My childhood had always been a sheltered one. My parents along with my-teachers,
tried to instill good ethics in me. But ‘sharing’ was one moral value which I was never
comfortable with. “Why should I give?” was my question. I could not understand the
value of sharing at that time. :

Little joys of sharing were beyond my understanding.

During one vacation to my hometown, | was at the railway station with my parents.
As we were waiting for a train, something caught my attention. Two small children,
perhaps siblings, were begging nearby. Though they appeared at ease, I was shocked
by their overall untidiness.

When they approached us, my father promptly gave the older one, a girl, some money.
Those were the days when I was constantly reminded of the virtue of ‘sharing’ things
with others. So, when my mother nudged me, I knew why and the look my mother
gave me, confirmed. I had a pack of my favourite chocolates in my pocket and, even
though I pretended to have forgotten about it, she remembered them. I was devastated.
With a heavy heart I fished out one chocolate and placed it reluctantly on the
outstretched hand of the girl. She flashed a smile and the duo moved on. But my gaze
never left them as I wanted to know about the fate of my chocolate. I kept on observing -
them. :

After a while I saw her unwrap it. She then did something which moved me. Without
a moment s hesitation, she put the chocolate in her brother’s mouth and watched his
face brighten up as he savoured it. Her action puzzled me. Why did she not eat it
herseli? Regret and shame overcame me when [ realized that I'had deliberately given
only one chocolate. I quickly decide to give her one more chocolate voluntarily.
Strangely, my action made me feel better than I had thought. I felt contented.
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- Q2.

As our train approached the station. the girl rushed to give me something. It was a
small paper doll which she had made with the wrapper of the chocolates. I was
speechless. Was she trying to convey a “Thank you™? That little girl taught me the joy
of sharing and also answered one big question ‘Why should I give? 1 now ask ‘Why
not'? as sharing is all about loving. Happiness abounds when shared. Years have
rolled by and 1 still cherish that valuable lesson I learnt during that vacation.
Sometimes life teaches us things we fail to learn from classrooms. I still think of that
girl and her brother and wonder where they would be now ... those sparkling eyes
and beautiful smile. They taught me the joys of sharing. '

I Complete the following sentences : (1x3=3}
(a) Asachild, the author learnt the and the contentment it gives.
(b) Theauthor saw two siblings begging when she was on her way '

" {c) The author’s mother forced her to

1  Answer the following questions briefly : (1x3=3}
{a) Why did the author keep on observing the two children?
b} What d_id the girl do with the one chocolate which the author gave her?
{0 How did the girl thank the author? '

M Find words from the passage which mean the same as : (1x2=2)

(@ clumsy and unclean {para 2)
(b) extended {para 3) ,
Read the following poem carefully :

ENCROACHMENT ' " balancing in its yellow beak
One evening after work, twigs and slender sticks
‘groping in the mailbox heading for my mailbox
- for messages, letters from nowhere, laboriously to rebuild
my fingers encountered ~ the cosy nest I had wrecked
 sprigs, twigs and eggs. My vision blurred in the heavy showers.
"Abird had.nested The message | had missed. :
right inside my mailbox. Quite clearly I read
- Annoyed, I cleared it all, " In the incongruous nest
except for the eggs. .- " Hidden in the wooden box.
Later-in the evening, A slow persecution
A squall had me out through a denuding of its habitat
hastily gathering, clothes left drying leaving no trees to rest ,
- In the garden hopping Except in wooden post boxes
In clumsy hurry was a mainah nailed to concrete walls.

‘Note: persecution : to hiarass/trouble

. denude : to destroy

o2 | ‘
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Answer the following questions by the choosing the most appropriate option

(a)

from those given below : _ {1x7=7)
" The narrator finds in his maﬂbox
(i amainah (i) abird's nest
(iii) aletter (ivy apaper

(b}

(c)

(d

(e)

M

Who encroaches on the other’s territory?

@ thebird

(i) thenarrator representing all human beings

{iii)’ the criminal

(iv the owner of the nest

When the narrator found a bird's nest in his mailbox, he was
i) regretful - (@) happy

(i) annoyed (v} worried

The narrator finds “his vision blurred in the heavy showers.” It indicates
that he - '

i) didn't realize his mistake

(ii} fails to see clearly due to heavy rainfall
{iii) feels puzzled at what he has done

(iv) feels guilty at what he has done

The bird is trying to rebuild its nest in the mailbox as
(i} it finds no tree to build its nest

@) it likes the mailbox :

(iii) it likes human company

(iv) itis a cosy place

The poet gives the message that we should

(i  not be cruel to other creaturés

(i) notdesiroya nést

.(ili) not encroach on other's territory

(iv) al! of the above _
The word ‘squall in the poem means

()  heavydowmpour (i) lightning
(iiij strong and violent wind _ {iv) muddy water
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Q3.

Q4.

Q5.

Q6.

g7.

SECTION-B
(WRITING - 20 MARKS)

You are the Student Editor of your school magazine. Write a notice in not more *2an
50 words inviting articles, stories, cartoons, poems, etc. for the school mags=zine. The

last day for submission of entries is 20 April 2013. Put the notice in a box. (3)
Your school has recently celebrated ‘Cleanliness Week'. As the secretary of the students’
council of your school, write a report of the event in 50-60 words. (3}

Using the following information write a biographical sketch of William Wordsworth,
the great English poet. ’ 4
. born on April 7, 1770 at Cockermouth, England

. education ~ Grammar School, Hawkshead, St. John’s College, Cambridge

. started wntmg poetry

»  attracted by scenes and objects of Nature

. visited France in 1791

+ friendship with S.T. Coleridge

. wfote and published ‘Lyrical Ballads' and many other poems

. settled in Dorset with sister Dorothy

. became Poet Laureate

*+ - diedin 1885

You recently visited a book fair organised by the Book Worm Club. You feel that such
events are really required as reading habit is dying fast among the youngsters. Write
an e-mail to your friend describing the fair and your experience of visiting the same
in about 120-150 words. B)
Hints :

* Books are your best friends

* Reading enhances language skills

*  Book Fairs lure children to read

* Fascinating world of books

| » . Hundreds of publishers from all over the world
* Eminent authors visited

* Bookreading sessions

+ Painting competition

These déys children spend more time in front of TV rather than playing or reading
books. Using your ideas along with the ideas from the MCB unit ‘Children’ write a

(D-4)
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as.

Q.

speech to be delivered in the morning assembly on the topic ‘TV viewing can be
harmful for children’. (120-150 words) {5
Brains under siege

Is TV priming the brain for violence? If you find it difficult to keep track of
what your kids are watching, look out for these warning signs :

« Has trouble paying attention and concentrating

¢ Does poorly in school

¢  Getsinto fights frequently

+  Reacts to teasing or criticism with extreme anger
¢ Isunsocial

e Consistently doesn't listen to adults

« Is insensitive to the feelings of others

»  Getsfrustrated easily

SECTION-C
(GRAMMAR - 15 MARKS)

Complete the passage given b‘g-:low by choosing the correct option : (1x3=3}

nature and can predict the likely
the sky. But duringa

Birds and animals live in the lap (a)
changes accurately. Swallows usually fly high (b)

storm, they come down and fly close {c) the ground.
@ @ In i} on (i) of - {iv) at
(b} @ at (i) in (iiff on (iv) by
(© @ from (i) on (i) to fiv] at
Read the following conversation between Jacob and Paul. Complete the dialogue by
filling up the blanks with the most appropriate options given below : {1x3=3)
Jacob : Hello Paul! Why didn’t you reach on time for your music practice?
Paul : 1@ -
Jacob : The instructor is furious. He (b} _~
Paul : I{a '
Jacob : You better doit.
(@ () ammissingthedirectbus () am having a flat tyre
(i) missed the direct bus (v} havecaughtina traffic jam

() () telephone you twice
(i) may be complaining against you
(iii) has avery angry state
(iv) is thinking of dropping you

(D-5)
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Q10.

Qll.

Q12.

Q13.

(¢ () willapologize for my unintentional delay
(i) should tender my sincere apologies P
(3ii) can ask him to forgive me
{ivy may explain the situation to him

Rearrange the following to form meaningful sentences. The first one has been done as
an example : {1x3=3)

Example - national/a/fog/capital/ thick/blanket/the/ of /engulfed
A thick blanket of fog engulfed the national capital.
(@) runway/visibility/to/ reduced/ 1000 metres/the/it
(b) it/adozen/were /due to/flights/ about/delayed
(¢) other cities/many/were diverted/flights/to/incoming
The foliowing passage has not been edited. There is one error in each line. Write the
incorrect word and the correction against the correct blank number. {1x3=3)
incorrect word  correct word

Arthur Doyle was born at Edinburgh, at in
U.K. in May 22, 1859. as the third (a
from eleven children. Arthur was sent (b)
to a boarding school in Lancashire which {c)
he excelled in cricket . '

Read the following conversation carefully and complete the paragraph given below
(1x3=3)
Traffic policeman @ You are going too fast. You have exceeded the speed
limit.
Rohit . 1 am late for work. Please let me g0 this time.
Traffic policeman : Don’t worry. You have to report at the police station only
{OmoITow.

The traffic policeman stopped Rohit and told him that he was going very fast and that
he (a) . Rohit pleaded with the policeman and said that (b} '
He further requested him (c] _The traffic policeman asked him not to
worry and said that he had to report at the police station only the next day.

SECTION-D .
(LITERATURE - 30 MARKS) e

Read the following extracts and answer the questions that follow : (3x3=9)

(A) Al the world’s a stage
And all the men and women merely players :
They have their exits and entrances;

And one man in his time plays many parts,
His acts being seven ages.

(D-8) -
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Q14.

Q15.

Q16.

Q17.

(a) Whatis the world compared to?
(b) Explain the poetic device used in the first line.
(@ What do you understand by ‘exits’ and ‘entrances’?

(B} Now. he quailed at the sight of his name in print, so thoroughly had he become
imbued with the necessity of keeping it from Harold.

{a) Whois ‘he'in the given lines?
(b) Why did "he’ quail at the sight of his name in print?
{c) What did ‘he’ want to keep from Harold?
(C} Sold! {with horror) Sold! Are you mad? Who sold them? Why were they sold?
(a) What does ‘they' refer to in the above lines?
(b) Who speaks these words and to whom?
(c) h Why are ‘they’ sold and to whom?
Answer any two of the following questions in about 30-40 words each : (3x2=6)
(a) How does the rain act as a messenger of mercy? '

(b) How was the Professor’s glory enhanced when the Sergeant asked him many
questions? {The Man Who Knew Too Much)

(c) Under what circumstances was the convict turned into a wild beast?
Answer the following question in about 120-150 words : (5)

After reading the story ‘Best Seller’, you realise that hypocrisy can be considered as a
kind of lie. This is a vice that modern society has perfected. Often politicians are
hypocrites as they fail to practise the principles/virtues that they preach. Write a
diary entry, highlighting the importance of being true to oneself.

OR

After reading the play ‘The Bishop's Candlesticks’ you muse over the trauma faced by
the convict and realise that his punishment was far greater than the sin committed.
Write an e-mail to your friend about your feelings and the fact that our attitude
should be that of ‘Hate the Sin, not the Sinner’.

Answer the following question in 120-150 words : - (5)

Man leaves no chance to make tall claims. He wants to excel his fellow beings in this
art. In the novel “There Men In a Boat”, people made tall claims about the trout but
the final revelation was shocking. Elucidate. '

Answer the following in 120-150 words : 5}

Write a character sketch of Jerome K. Jerome with reference to the novel “Three Men
In A Boat”.

OR

Harris often lands himself in trouble in the story ‘Three Men In A Boat'. On the basis
of your reading of the text write a pen portrait of Harris. ’

(D-7}



SUMMATIVE ASSESSMENT-1I (2012-13) 3/2013
CLASS-IX
. SUBJECT : FRENCH

Time : 3 Hrs. M.M.: 90
General Instructions :

(]
(ii) -
(iii)

(iv)

Q..A

Read all the questions very carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.
SECTION-A (COMPREHENSION ECRITE)
Lisez le texte et répondez aux questions suivantes :-
Une Ironie '

Monsieur Savoir est professeur de psychologie dans une
université canadienne. Il a cinquante ans. 1l est gros, petit
et trés actif. Il est savant. Il a écrit un livre qui a pour titre
: <<Comment développer la mémoire.>> En ce moment il
écrit un autre livre : <<Comment fixer " attention.>>

Aujourd’hui Monsieur Savoir a beaucoup travaillé et
il est trés fatigué. Il est sorti a neuf heures du matin. Il est

allé & son collége ou1l a parlé & sa classe sur I importance

de la mémuoire. Il est rentré a midi.

Sa femme lui a demandé : <<As-tu acheté du pain,
Gustave?>> <<Ah, ma chérie, j'ai oublié. J'en achéterai

“demain.>> <<Mais j'en ai besoin pour le déjeuner. On ne

Q1.

peut pas manger sans pain. Va a la boulangerie et achétes-
en tout de suite.>> Aprés le déjeuner Monsieur Savoir veut
lire son journal, mais il a oublié ses lunettes Assis dans un
grand fauteuil, il écoute la radio .....
Chois:issez la bonne réponse :- ) 2)
() Monsieur Savoir écrit un livre qui sappelle.

(i)  Comment développer I attention.

{ii) Comment fixer la mémoire.
(iil Comment fixer ' attention.

(1)



Q2.

Q3.

e

Q2.

Ql.

fb)  Pourquoi Monsieur Savoir ne peut pas lire son journal?
parceque ...
(i) il a oublié ses lunettes dans le collége.
(i) il écoutela radio

(iif) il écrit un livre.

Dites Vraiou Faux:- . ' _ 2

fa} Monsieur Savoir est Jeunlahste

(b) Monsicur Savoir est paresseux.

() Monsieur Savoir a une bonne mémoire.

(@) Lafamille mangera du pain pour le déjeuner demain.
Trouvez : _ 2)
(a) le contraire de << peu >>

(b) un mot pour << I' endroit o1 I’ on vend du pain >>

(¢} leprésent de << pouvoir >>

(d) laforme verbale de << un oubli >> _

C.omp]étez avec les mots du texte :- (4}
{a) Mon perea achetédenouvelles. - l’i)am hmettes
radio) '

(b} 1lfautécouter les nouvellesa la tous les jéufs.

(radio, livre, mérnoire)

) Roland fait beaucoup de travaux : il est {rés
{actif, gros, petit]

(d} Son pére enseigne dans une __en France,

(collége, universite, boulangerie} -

' SECTION-B (EXPRESSION ECRITE)
Vous étes Neha. Votre correspondante Pauline vous écrit
une letire et elle vous décrit la ville de Paris. Rédigez cette
lettreen 80 mots. , - (10

Mettez le dialogue en ordre - - B

. D’ accord! A bientot!

)
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Q3.

Q4.

Ql.

Q2.

. Bonjour! Je m’ appelle Sylvie. Et toi?

. Déjeunons ensemble 2 la cafétéria cet aprés-midi.

«  Bonjour! Tu t appelles comment?

.  Moi aussi, nous sommes alors dans la méme
classe.

«  Moi, je mv appelle Alice. Tu es en sixiéme?
¢ Oui, et toi? '

Laissez un message pour votre ami qui vous 2 invité voir

. un film chez lui. Vous ne pouvez pasy aller. (30 mots) {5)

Vous voulez de I argent pour aller au pique-nique avec vos

‘amis. Rédigez une carte postale 4 votre pére pour lui

demander de I argent. (30 mots) ' 5
SECTION-C (GRAMMAIRE)
Complétez ces phrases avec des adjectifs possessifs :  (5).

{mon, ma, mes, ton, ta, tes, son ... etc.)

(a)  Elles cachent poupées.
(b) Paula dépeﬁsé argent de poche.
(¢} Lejeune homme admire ___jardinier travailler.
(d] - Vous vous asseyez sur terrasse tous les
SOirs.
(€} Cebébéregarde doigts.
Cbmplétez avec les adjectifs démonstratifs : {5)
' {ce. cet, cette, ces)
' [a] vieille cliente interroge employé
au guichet. :
(b) Vous ne trouverez pas papiers  dans
tiroir.
(© bonnes tartes de. patisserie sont
délicieuses. '
@ - 11 va goitter bon fromage dans
restaurant?

(3



Q3.

Q4.

Q5.

Q6.

(e}  Onapprendra
devoirs.

lecon et complétera

Complétez avec les adjectifs et les pronoms interrogatifs :
(5}
{Quel/Quelle/Le quel/laquelle ..... etc.)

' (a) professeur voulait te rencontrer?
as-tu téléphoné hier? ’
(b) arnis as-tu invités chez toi pour ton annivers
aire? viendront certainement?
(). garcons jouent au football? as-tu
B donné tes cahiers? .
(d) fille est ta voisine? _____~ as-tudonné la
lettre?
() sont les grandes villes en Inde? __est

la ville capitale?
Récrivez les phrases & la forme négative : (5}
(ne... pas, ne... personne, ... etc)
(a) Lafemme a déja mangé le diner.
{b) Nous regardons la télé tous les soirs.
(¢ 1l est mon frére. o
(d} Tout le monde est parti.
(e) Iy ades bonbois dans le frigo.
Remplacez les noms soulignés avec les bons pronoms : (5)
{Je, Tu, 11, le, 1a, les, nous, vous, lui, en, y, eux ... etc.)
(a) Katie et son frére chantent les chansons indiennes.

(b) Le gros garcon parle 3 sa mére.

(0 Nous achéterons des cassettes pour nos parents.

(¢l] As—tu mis les stylos sur la table?
'(e] 11 a acheté du pain pour son fils.

Choisissez la bonne réponse : 7 (5
fa) Letrain (va arriver, arrivera, est arrivé) dans quelques
minutes.

(4)

: s



et

Q7.

Q1.

QQ.

{a)

(d)

I

Repondez aux guestions suivanies:: R {10y

(a)

(a)

«

(b) (Etes, Sois; Soyez) a I'heure, mes enfants!
() La semaine prochaine nous {aurions, aurons, avons)
une nouvelle voiture,
(d) Si tu complétais tes devoirs tu (sortirais, sortira,
sortiras) avec tes copams ' -
(e} Lacloche {va sonner, sonnera, ment de sonner) il y a
7 deux minutes.. -, L
Rehez les phrases en utlhsant qul que,ou: 5)

Nous passons par le village. Nous y avons passé nos
vacances d'été.

L’ exercice est facile. Iis I ont déja fait.

Les plats sont délicieux. Elles onf commandé ces
plats. - - '

Ma voisine est malade. Elle _acﬁétgra ma vieille
voiture. . - - 7

la bonne,p'étisseﬁé est fermée. rIis_.y ont acheté les
choux & la créme. -

SECTION-D {CULTURE ET CIVILISATION}

Autrefois que faisait - on pour se detendre‘?

b) Qu'est-ceque << les étrennes >>?
") Qu'est - ce quec'est << acheter sur catalague»’?
(d} - Pourquoi fédit - on de:la-gym?- -
e} - Pourquowa t-on auparcde ﬂjoudj? Ot'se immre--—;
Dakar? '
Choisissez la bonne réponse :- (10)

a Touaba est célébfer.r

(la plage / le parc 7 1a mosquée 7 l'église) ~

(5)

s



(b)

(c}

@

7 (e)

(0

()

@

0

(k)

Pour avoir La Carte Junior, il faut

Un temps parisien veut dire et

3 —

(ciel gris / pluie / vent frais / ciel bleu / ensoleillé /
brouillard / nuages / orages)

Montiréal se trouve
(au Sénégal / au Canada / en France / auX Etats -
Unis})

L' argent de poche, c'est une donnée par des

' (somme fixe /T autonoinie / ennuyeux / beaucoup

de travail / parents)

L’ argent ne fait pas : _
{le bonheur / I autonomie / la carte / le malheur}
car on T'a pas mis assez

Le gateau est trop
de .

(sec / lait / eau / oeufs / beurre)

, et

qui ont une réputation mondiale.

(le bordeaux / le demi-sel / le camembert / le
roquefort / le rofuequort)

Lara Fabien est une chanteuse

(québécoise 7 frafx(;a'@e / 7ang'1ai,_8_s / indienne)

Le fait des cadeaux aux énfaﬁts_ sageé. .
{professeﬁr 7/ ange / pére - Noél / Saint Valentin)
Deux petits travaux sont : et L

{faire une promenade / garder des enfants / manger

au restaurant / faire du ski / s'occuper des animaux)

L3

et . :

(une carte d’identité / la poste / une poche / une
autorisation des parents / un premier versement de
100 franes / une banque) '

(6)

sont des fromaées francais

B i
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SUMMATIVE ASSESSMENT II - 2012-13 3/2013
CLASS : IX
SUBJECT : MATHEMATICS

Time : 3 Hrs. : ' M.M.: 90
General Instructions :

1.
2,

Ql.

| Q2.

Q3.

G4

All questions are compulsory.

The question paper consists of 34 questions divided into four sections
A, B, C and D. Section-A comprises of 8 questions of 1 mark each;
Section-B comprises of 6 questions of 2 marks each; Section-C comprises
of 10 questions of 3 marks each and Section-D comprises of 10 questions
of 4 marks each. '

Question numbers 1to8in Section-A are multiple choice questions
where you are required to select one option out of the given four.

Use of calculator is not permitted.
: SECTION-A
The graph of the linear equation x-2y=3isa line which meets the x-axis at
the point : ,
@ 3.0 b (©, 3
@ 3.0 d (0,-3)
The curved surface area of a cylinder and a cone is equal. If their base radius

is same, then the ratio of the slant height of the cone to the height of the
cylinder is :

(a) 2:3 : by 1:1
€ 21 d 12
In a cricket match, a batswoman hits a boundary 6 times out of 30 balls she
plays, then the probability of not hitting a boundary is : : :

(@) - (b)

(d)

ol Ol
(6 FHTN U'llf‘g-"

{c)

In the given figure, measure of ZBAC is :
@) 160°

(b) 150°
fc) 75°
(d 130°

(D-1)



Q5.

Q6.

Q7.

Q8.

Q9.

- Ql10.

The mode of 4, 6,7, 8, 12,11, 13,9, 13,9.7.8.91is

(@) 6 (b) 7

c ¢ {d 13

A triangle and a rhombus are on the same base and between the same parallels.
Then the ratio of area of triangle to that of rhombus is :

(a) 2:1 by 1:1

) 1.2 d 14

The graph of x = 6 is a line :

(a) parallel to x-axis at a distance of 6 units from the origin.
(b) parallel to y-axisata distance of 3 units from the origin.
(c) parallel to y-axis at a distance of 6 units from the origin.
(d) passes through the origin.

When a cuboid of dimensions 30cm x. 30cm X 42.6cm is melted and converted
into cubes of edge 3cm, then the number of cubes formed is :

() 2840 | (b) 2130
(@ 1420 (@ 2710
SECTION-B -

The number of matchsticks in 40 matchboxes on counting was found as given
below :

44 4] 42 43 47 50 51 49 43 42
40 42 44 45 49 42 46 49 45 49

A5 47 48 43 44 43 48 43 46 50
43 52 46 49 52 51 47 43 45 43

Taking classes 40-42, 42-44 ete., construct the frequency distribution table
for the above data.

ABCD is a parallelogram, AELDC and CFLAD. If AB = 16cm, AE = 8cm and
CF = 10cm, find AD.

A ~ . B

(D-2)
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Q11. Find the area of four walls of a room whose length is 12m, breadth is 10m and
height is 4m.
Q12. The following observations have been arranged in ascending order : |
18,20, 25, 26. 30, x, 37, 38,39, 48.
If median of the data is 35, then find the value of x.
Q13. In the given figure, O is the centre of
circle. The angle made by arc BCD at

the centre is 140°, BC is produced to P.
Find ZDCP.

Q14. The peféentage of marks obtained by a student in the monthly unit test are

given below : _
Unit tests I I I v vV
Percentage of 69 71 73 74 68
marks obtained '

Base on this data, find the probability that the student gets more than 70%
marks-in a unit test.

SECTION-C
Q15. Write any three solutions of the equation :
7 3x+4y=21
Q16. PQRS and ABRS are parallelograms and X is any point on side BR. Show that
) ar(PQRS}=ar (ABRS) '

(i) -ar{AXS)= %'ar (PQRS)
p_ A Q &

B — R
Q17.In AABC, D, E and F are respectively the mid-points of sides AB, BC and CA.
' Show that AABC is divided into four congruent triangles by joining D, Eand F.

(D-3) -



Q18. Sanya melted a solid metallic sphere of radius 3cm and recast it into the wire

2
of diameter 5 cm. _ .
(a) Find the length of the wire.

(b} Sanya is showing some concern towards environment. Is this concern
correct? Comment on it.

Q19. The table given below shows the weekly pocket money for 40 students.

Pocket money (in3) 75 100 | 125 | 150 | 175 | 200
Number of students 5 9 15 7 3 1

Find the probability that the weekly pocket money is :
@) 125
(b) less than ¥ 200
i (¢ morethan¥ 120
~ (20. Find the mean of the following distribution :
11X 12 13 14 15 16 17 18
I 1 3 4 g | 10| 3 1 .
Q21.1fx=1andy=1isa sohution of the equation 9 Kx + 12 Ky = 63, find the value
of K, also find 2 more solutions of the equation. ' -
@22. Construct a AABC in which BC = 7cm, £B = 75° aﬁd AB + AC = 13cm.

Q23. Show that the diagonals of a parallelogram divides it into two congruent
" triangles. '

Q24. The circumference of the base of a cone is 44cm and its height is 24cm. Find
the curved surface area of the cone. : :

SECTION-D
Q25. Give the geometrical representation of x + B = 5x - 7 as an equation :

. l'ﬂé

{a) in one variable
(b} intwo variables

Q26. ABCD is a trapezium in which A &
AB || CD and AD = BC. Show that : \

@ «ZA=4£B
(b) «£C=4£D
(€ AABC =ABAD

(D-4)
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Q27.

Q28.

‘ Q29.

Q@30.
Q3l.
Q32.
Q33.

Q34.

o Mn1

The following table gives the distribution of students of two sections accgrdmg
~ to the marks obtained by them :

Marks Frequency
’ Section A Section B
0-10 3 5
10-20 9 19
20-30 17 15
30-40 12 10
40-50 9 1

{a) Represent the marks of the students of both the sections on the same
graph by two frequency polygons.
(b) Which section has performed better and what is the reason behind it?

Prove that the angle subtended by an arc at the centre is double the angle
subtended by it at any point on the remaining part of the circle.

The total surface area of a right circular cylinder is 3432cm? Its curved surface

5
area is 28 of its total surface area. Determine the radius and height of the

cylinder.

Parallelograms on the same base and between the same parallels are equal in
area. Prove it.

Construct a AXYZ in Wthh £LY = 30° £Z =90° and XY + YZ + ZX = 11cm.
Verify by measurement.

Draw the graph of the equation 2y - 3x- 5 = 0. Check from graph if (7, 13) is
a solution of the equation or not.

If two intersecting chords of a circle make equal angles with the diameter
passing through their point of intersection, prove that the chords are equal. -

Patients in a hospital are given soup in a cylindrical bow! of diameter 7cm. If
the bowl is filled with soup to a height of 4cm, then

(@) How much soup the hospital has to prepare to serve 250 patlents’?
(b) What quality of hospital is shown here?

(D-5)



